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QUESTION 1

You work as a DBA and have the responsibility of managing a large online transaction processing (OLTP) system. You
used the following query during the

performance tuning activity:

SQL> SELECT (1-((phy.value-phyd.value) / (cur.value + con.value))) * 100 2 "Cache Hit ratio"

3 FROM v$sysstat cur, v$sysstat con, vésysstat phy, vésysstat phyd 4 WHERE cur.name = \\'db block gets\\'
5 AND con.name = \\'consistent gets\\'

6 AND phy.name = \\'physical reads\\

7 AND phyd.name = \\'physical reads direct\\';

Cache Hit Ratio

98.43

What can you conclude based on this ratio?

A. The database performance is very good because of reduced logical I/Os.

B. The database performance cannot be determined based only on this ratio.

C. Good database performance is guaranteed because very few physical I/Os are performed.

D. The database performance is very good because most of the requested data blocks are found in the buffer cache.

Correct Answer: B

QUESTION 2

View Exhibitl and examine a portion of Active Session History(ASH) report.
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View Exhibit2 to examine the tablespaces.

TABLESPACE_NAME STATUS

CONMTENTZ EXTENT_MAN ALLOCATIO SEGMEN

SYSTEM ONLINE PERMANENT LOCAL MANLUAL
SYSAUX ONLINE PERMANENT LOCAL AUTO
UNDOTES1 ONLTINE UNDO LocAL o MANUAL
TEMP ONL INE TEMPORARY LEICALO UNIFORM  MANUAL
USERS ONLINE PERMANENT LOCAL SYSTEM AUTO
EXAMPLE ONLINE PERMANENT > SYSTEM AUTO
SOEINDEX ONLINE PERMANEN UNTFORM  AUTO
SOE ONLINE PERMANEN UNIFORM  AUTO
TESSPC ONLINE PERMANERILOCAL SYSTEM MANUAL

Which action would you suggest after analyzing the output?
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A. Increase the log buffer size.

B. Rebuild indexes on SPCT table.

C. Decreasing the number of free lists in segment SPCT.

D. Move SPCT table to a different tablespace that is locally managed with automatic segment space management.

Correct Answer: D

QUESTION 3

You work as a DBA for a company and you have the responsibility of managing one of its online transaction processing
(OLTP) systems. The database

encountered performance-related problems and you generated an Automatic Workload Repository (AWR) report to
investigate it further.

View the Exhibits and examine the AWR report.

Which is the appropriate solution to the problem in this database?
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A. increasing the size of the shared pool

B. adding one more CPU to the system

C. setting the CURSOR_SHARING parameter to EXACT
D. configuring Java pool because it is not configured

Correct Answer: A
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QUESTION 4

Your database has the ACCTG service configured for an accounting application running on a middle tier. These service
is used by the middle-tier applications to connect to the database by using connection pools. The application has three
modules LEDGER, ACCOUNTS, and BILLING. You asked the developers to invoke the
DBMS_APPLICATION_INFO.SET_MODULE procedure to set the module name and action in the code for the
application. You enabled tracing at the service level by executing the following command:

SQL> exec DBMS_MONITOR.SERV_MOD_ACT_TRACE_ENABLE(\'ACCTG\\");

You want to consolidate the trace output from the trace files created based on module. Which is the appropriate solution
for this?

A. Using trace files as input for the tkprof utility to consolidate the tracing of sessions for a module
B. Using the trace file as input for the trcsess utility to consolidate and process the output for a module

C. Using the trcsess utility to consolidate all trace files into a single output file, which can then be processed by the
tkprof utility

D. Using the trace file as input for the trcsess utility and creating output files that can directly be used by the users for
performance or debugging purposes

Correct Answer: C

QUESTION 5

During a proactive database performance monitoring routine, on examining the AWR report you find that log file sync
appears among the top 5 wait events.What does this event indicate?

A. Frequent logfile switches are occurring.

B. Redo is generated faster than LGWR can write it out.

C. Frequent commits or rollbacks are taking place in the application.
D. Frequent incremental checkpoints are taking place in the database.

Correct Answer: C

170-054 PDE Dumps 170-054 VCE Dumps 170-054 Braindumps

170-054 PDF Dumps | 120-054 VCE Dumps | 120-054 Braindumps 718


https://www.passapply.com/1Z0-054.html
https://www.passapply.com/1Z0-054.html
https://www.passapply.com/1Z0-054.html
https://www.passapply.com/1Z0-054.html
https://www.passapply.com/1Z0-054.html
https://www.passapply.com/1Z0-054.html

VCE & PDF https://www.passapply.com/1Z0-054.html
2021 Latest passapply 120-054 PDF and VCE dumps Download
PassApply.com

To Read the Whole Q&As, please purchase the Complete Version from Our website.

Try our product !

100% Guaranteed Success

100% Money Back Guarantee

365 Days Free Update

Instant Download After Purchase

24x7 Customer Support

Average 99.9% Success Rate

More than 800,000 Satisfied Customers Worldwide

Multi-Platform capabilities - Windows, Mac, Android, iPhone, iPod, iPad, Kindle

We provide exam PDF and VCE of Cisco, Microsoft, IBM, CompTIA, Oracle and other IT Certifications.
You can view Vendor list of All Certification Exams offered:

https://www.passapply.com/allproducts

Need Help

Please provide as much detail as possible so we can best assist you.
To update a previously submitted ticket:

Submit A Ticket

One Year Free Update Money Back Guarantee Security & Privacy

Free update is available within One To ensure that you are spending on We respect customer privacy. We
Year after your purchase. After One quality products, we provide 100% use McAfee's security service to
Year, you will get 50% discounts for money back guarantee for 30 days provide you with utmost security for

updating. And we are proud to from the date of purchase. your personal information & peace
boast a 24/7 efficient Customer of mind.

Support system via Email.

Any charges made through this site will appear as Global Simulators Limited.
All trademarks are the property of their respective owners.
Copyright © passapply, All Rights Reserved.

1Z0-054 PDF Dumps | 1Z0-054 VCE Dumps | 1Z0-054 Braindumps 8/8


https://secure.livechatinc.com/licence/8041871/v2/open_chat.cgi
http://www.tcpdf.org
https://www.passapply.com/1Z0-054.html
https://www.passapply.com/1Z0-054.html
https://www.passapply.com/1Z0-054.html

